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 Perimeter & Area   of the Four Basic Parallelograms  of Plane Euclidean Geometry. 

 
All  answers  for  Perimeter and Area  must have  the  correct labels. 

 
Values inside the Parallelograms are the Heights. 

 
 
 

 
 

 
 

                                  
                                 3ft 
 
                  3ft 

 
 
 

                                       3ft 
                     
                   5ft 
 

 
 
 
               3ft           4ft 
 
              4ft 

 
 
 

               3ft                4ft 
           
                     6ft 
 

 
Square 

 
Perimeter  = S +S +S +S  

 
P = ___12 ft____ 

_ _ _ _ _ _ _ _ _ _ _ _ _ _  
 

 
Area = S x S   or   S2 

 
Area = ___9 sq ft____ 

 

 
Rectangle 

 
Perimeter  = W +L +W +L 

 
P = ___16 ft____ 

_ _ _ _ _ _ _ _ _ _ _ _ _ _  
 

 
Area = L x W 

 
Area = ___15 sq ft____ 

 

 
Rhombus 

 
Perimeter = S +S +S +S 

 
P = ____16ft____ 

_ _ _ _ _ _ _ _ _ _ _ _ _  
 

 
Area = B * H 

 
Area = __12 sq ft___ 

 

 
Rhomboid 

 
Perimeter  = W +L +W +L 

 
P = ___20 ft____ 

_ _ _ _ _ _ _ _ _ _ _ _ _ _  
 
 

Area = B * H 
 

Area = ___18 sq ft____ 
 
 
 
 

 
 
 
 
 

These Two Sets of Problems should  PRINT OUT on Two Sheets of Paper. 
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Perimeter & Area   of the Four Basic Parallelograms  of Plane Euclidean Geometry. 

 
All  answers  for  Perimeter and Area  must have  the  correct labels. 

 
Values inside the Parallelograms are the Heights. 

 
 

   
 
 

 
 
 
                            7in 

                                  
     
    7in 

 
 
 
                                     5in 
                   
                 9in 

 
 
 
               5in     6in 
                   
             6in 

 
 
 

                    4in              6in 
 
             11in 

 
Square 

 
Perimeter  = S + S +S +S  

 
P = ____28 in___ 

_ _ _ _ _ _ _ _ _ _ _ _ _ _  
 

 
Area = S x S   or   S2 

 
Area = ___49sq in___ 

 

 
Rectangle 

 
Perimeter  = W +L +W +L 

 
P = ___28 in____ 

_ _ _ _ _ _ _ _ _ _ _ _ _ _  
 

 
Area = L x W 

 
Area = __45 sq in___ 

 

 
Rhombus 

 
Perimeter  = S +S +S +S 

 
P = ___24 in___ 

_ _ _ _ _ _ _ _ _ _ _ _ _ _ _ 
 

 
Area = B * H 

 
Area = __30 sq in___ 

 

 
Rhomboid 

 
Perimeter  = W +L+W +L 

 
P = ___34 in____ 

_ _ _ _ _ _ _ _ _ _ _ _ _ _  
 
 

Area = B * H 
 

Area = __44 sq in___ 
 
 
 
 

 
 
 

 
 

These Two Sets of Problems should  PRINT OUT on Two Sheets of Paper. 
 

 


